I £6 = A /o =
ERR21EE ERIITEETER
4 H 58 6 A 78 8 H 98 108 118 128 18 28 38
alels  wlalmls wlelwls sl|elwls s|lawls wlewls slelels wlewls slelels slelwls slelels slelels =
- T — EER D = X
15k i|le |EfERR 1| g | 1|k [BlEZREE | |4 [FeEmeces) |, (REEE 1|4 |BRERE 1||a [r—snzvs 1% il |8 e 1| g 1R
2|k 2|+ 2|k 2|k |7REE 2|E 2|5k ole lEmen | oln [Teee | ol 2|+ 2|k 2|k [3AFEE
EAEEE et Wine poliad= 12 %E SAEE
3|& 3| g [RARE 3|k 3|¢ mawswm2| 3|8 3|k 3|+ P Es LT BRES 3|| 3|7k 3|k
4|+ 4| B EROKA B S ?5;%1(;%;97;;(?;?% 4|+ 4|k ES = 4|7k 4% 128&%& 4B =3 CY.)) ES i@%@%ﬁﬁtuwj e 3RE&E
5|8 sl [SEBPB | 5|a [remrmrens| glg 5[5k ot Tnge | 5 g |EFRaRER] 5% 5|+ 5|k 5| 5|2 [3AFE
olg [FIAERE | gk [IREAE ol [naw | o|g|7AEE HES 6lE [EHRRGE) | 4| |2FEFIRT| o5 6|8 6|k [TVTAEE) | gl [Rmximoen | 6|4
7|k e e el | A |7REE 7l 718 Lk |2z ol feesen | g GRS | ok [7errrem | g 7lB
FEX mER KEAOBE TAEE HEL po emo 2B E® SRES oAnE
sk |xiak Azx | |& |Rmma 8| 5 8k |mhmimes | 8|4 8|k gk |PFEFIRT) o) [EEXTICOD) | o|x [zommns | oo |mmaz 8|8 8| |smeaiana
IS ?%%ggfi B o| sk o|k |HEEEEEE | 9|5 a|k 9|2 |2FEFIIT| o\ olik [12AFE | o |[THRE= o]k o]k
2-3ERBEE 1464 s " = BEFHR=FEHX 4
10| |/7w=men | 10| H 10k |[EBER | qo|a [FEXE 105 NES 10|+ |EMREEE) ] 19| 10/ [(~228) | 10lE 105k 10k [REAR
o . - =
11|+ 1|8 11k [REXRS || [EFERE ||y 1|4 1|8 117k B 11| g [EADE | 4|4 [BERBOB| |4 |[EEXR
12|E 12|k 12| [REAR | o EREREH) | )% 12|+ |TRBE | o |RBPE | o% 12|+ [RREGcem | 10| [REEE | y|a AN
13|A 137k s+ [Fee= " |13lg 13| & 13| 13|k 13|% 13| [EBTLEH | 5]k 13|+ [EF¥—2C® | 43+
. " o = R o
14|y [ZOFEREA |4y |PRERCS |1alH 14|k 14|% 14| 14]7k 14+ |TBEZE |47 14k o | 1a|E [EIRT7ER | a8
—— e e o BEER Kh
15k 15/% 155 15|k 15+ 15|k 15|% 158 15] e [FICEBEANR | 15| o [MBREF) | 5| g AR XBR| 55 |
FRIBE (£) &#<—2 = 4= > 2—RE& ok
16|k |wamnes | 164 16]2x HES 16|B [@%-50) 167k |FEXAEFT |45 [TOAFE | 44|g 167K 16]+ |tmEmeE 16y [EBABL | 45|y |[FHRE
17|8 [FEPREE®) | 9|5 17k [1EReE] (4|4 el | 19] g 17|k el T 171 17k [FEFERER | g5 [BXFBER] 7| 170k
LT 7 IINE ) LESRARE VEHAHUAETE GTEC(2%) e it Pty 23
18|+ [FRRINER] (g5 |5t 18| ekl BT ES 18]k 18|# [ 7] 18| B 18]k |52 "R ) 15| [ 5] g [SFEERA | 4g)5 18| K
19| [FERINGER] 19|y, [Fomumans | 192 19]6 19|k [EMHECH | 10| ¢ 108 [1OBEE | 194 |mamacs |10+ 1ol [ozom T | 1ol 19| | RS
= P = 3 P = VISR F &

2ol g [FFEE® | 40l 20|+ [EFEHE | ,0|g [BOE sol [ [0l 20| s [ mizs | 202 oaies”” | o0lg 207k sol+ |Eaptie 20|+ |BEAPH
21|k [FEEER ||k [SAEE  |o1|a NP s ll PIPY L PRI 21k |1OAEE [0+ 21| |FFEEE® |91k 21|B 21|m |BHERER
e e FEEZS =FmEHR wEKE 10 &% s (e s =
22|k [FREEN | ool |praae 22| A 22|k [RIHIBE 22|+ 22|k kB XS 22|k |swEGe |22|H 99|y [FHEHFR) | ol o [Frnmeid] o) g 22| g |IREKE

g =Fm# ! N 5 BERERHE mE
23|k |PHER ) | o) & 23|k 23|k |simms | 23| 23|k [KAPE |52 23| 7 |BHBHOR| 55, |KEHER | 95] 1 [wmimscrom]| 23|k 23|k [rAr3E nsnn
Fo 182 =FEmER %A Jr suLe KRR ZERREES EEphE
24|% |otysy 24| H 24|75k 24| % |BIAAmEE 24| B |swE 24| K 24|+ 24| 24| K [FEmBr®) 24| B |EmrEReE) | 24|k 24K | B+
P - 5 . e S S (~ = K I
25|+ o5|g |BRAEE 25|k 25|+ 05| [EHIHE | 5| [RHE 05| @ [EEIMERGE) | 55| [Facons 7 | o5|a [2EHE 05| g [1EMEIR | o5l A3/ — 25|k |BEEME
26|80 26l [SAEE | gsle ooy 7 |6l 267k |EHHRE T el DT 1 ey PR 26|+ g6 [1EREBR [ 6|6 225777 | 6o |[BEWE
o SH%E 3 e i = EE?\' R SRFAE 5 = 1T
alg PreEsr | ylx Bainen |l [EBE2 | |5 nane  [oo]x S [l ee—2e | )y 27|12 Y b [1EEEme ool [RaRT " |l
& AFEER P2 o= 53 = B -
28| % 28|k [FFHE | og|m 28|k |siipimm [ 282 |BMHRE [ 95)5 28| 28| [THEAEZ | g5) 5 |HHEMD | gg| |1 FWHEIR | op) | RS 28| 8
st i 1EYTU AR =
20|k |BHIOE |59/ 20| A 20|k |FIMHHE (35) | 99| & 20|k 294 20| B |EHTVEED] 99| 20| % |aaxinmms 20|g |BFFHE
- AR - -
30k 30|+ 30| 30| |FIHHRE (34 | 90/ solk [t | sole 5% ens] a0l B 307k 30|+ 30|y |BFFHE
31| 318 318 |sss 31| 1 |EHBEC-25) _ 31|k 31| 31|k |BFHE
SNHLBHARE EEEEE FETEE F—ToNARI—IL PTABBIRIT RRERE (1-28) RRERE (1-26&) BEARBRA RIS (38)
PTA/SVIVHEE F—=FoFr XX PTAEESR BRI B ER X SR IEE (35)
AKRPHIF— AR AR PTAEES
DOCRR T WA oRESF—(1 SRR A RS —
B ETEBAE ()

)
N—TAHRT (1 F)




